OSRG-S FBHERSHES i
ST, AEREESRERR

MK A (—)

al

FLE

=6 [ I X3 LS T L8 2]
®® @0 @0 @O

L X3 16 [ 1LX41 =2 |X6]

®® @0 @0 @O0

81+-9X5 36—4X6 3X2X6

] 4 9 3 8

£, E\ @k o« g w=
8 X 8+9 12—-6X5 12—-4X8 12+-6X5 4X4-=-2 25=-5X%X3

8X4-8 56=7X3 2X3+6  27+9-+3 49+-7X2  2X9-3
<. fRR B,
1. 0E—K32 AP, FHERAEILR?

/»nmf“‘"s:’vzw"\fmﬂ\% gy
{J BARKARZT ngzga
X o o
Kif\% ijj 3{9 7N

/ = /J \
[ T

A

BS e, T, B, BRI
% 19T, DAREESHEAE




OSRG-S FBHERSHES i
ST, AEREESRERR

\ = -
\
T B BA HRE I,
HFAI3A FEAL8 HR? A HARAT

MIAXTARBRE, —£AX 1240, HFRHERZS S L?

(2) —H | S0 BA — IR TLE?

(3) 24K T 8 B MAr— R R E, H— % BAMF VK2

BRI R 6 AMMT 3B FARIR, 5 EFIHNBRRERS V KH?

4. —EH A QKR FOH 93, X RBEE NS 6 A, FHEFAN

N
&
R

~




O&Emis--- S FBHERPHS
AR T, AREESAERR

w»

S
—. 4
54

54 12 4 9 8 42 8 7 4 8
2 42 3 25 36

9 27 32 4 2 24 4 16 8 48

9 45 54 36
5
>

N

4 1 8 18 56 4 18 5
> < = =X

S
A}

. 1.32+4=8(W)
(112+4=3() (2)8+4=2
(3) 8 X4+3=35 (L)
3.6+3X5=10 (k)
4.4X9+6=6(3x)

7
)
EiR
2.






